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1. no overlapping area between the previous triangle/quadrilateral/ pentagon and the
following triangle/quadrilateral/ pentagon

2. the previous triangle/quadrilateral/ pentagon is connected to the following
triangle/quadrilateral/ pentagon

3. the previous triangle/quadrilateral/ pentagon coincides with the following
triangle/quadrilateral/ pentagon

4 . the previous triangle/quadrilateral/ pentagon 1is inside the following
triangle/quadrilateral/ pentagon

5. the previous triangle/quadrilateral/ pentagon is interlaced with the following
triangle/quadrilateral/ pentagon

6 . the previous triangle/quadrilateral/ pentagon contains the following

triangle/quadrilateral/ pentagon
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6: AN RUARSR, R ARSI T ST RN 20T (BRE NN 20T, AEBIEMZIATE),
AR (e FLL B4 in the pentagon/outof the pentagon, #5 /& IUiZ 4 in the quadrilateral/outof
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R E 7y DLk I 5. SR S 2T 400 b, #iHi"on the triangle/on the quadrilateral/on the
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WRATFEFAM L, fit"Wrong Format".

WERFFEEAREA, HRA RSB EARTSZKR, Hith"wrong number of points".
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HHE FINFEGL:
1:-1,-1 1,2 -1,1 1,0
## FEOHH

wrong number of points

HHE HINFEB2:
1:-1,-1 1,2 -1,1 1,0 1,3
#H B

false

e PN ER
2:0,0 1,0 2,1 1,0 0,2
#H B

not a pentagon

#HHE HINFEB4
2:0,0 1,0 2,1 1,2 0,3
#HHE PRGBS

not a pentagon

#HHE HINFEB6
1:0,0 5,0 6.54,4.75 2.5,7.69 -1.54,4.75

#HHE FEGITH

true

HHE KRBT
2:0,0 1,0 2,1 1,2 0,2
#i FED S



true 6.828 3.0

#HHE L8

3:0,0 6,6 0,0 8,0 8,3 6,6 0,3
##H PR

2 9.0 27.0

#HH AL

3:6,0 6,6 0,0 6,0 8,0 8,3 8,6
##H PR

2 10.5 13.5

#H# WINFER10:
3:10,0 120,0 0,0 6,0 7,0 8,0 8,6
#H B

The line is coincide with one of the lines

HHE RG]
4:9,0 6,0 7,1 8,3 6,6 0,0 6,0 7,1 8,3 6,6
#HHE PRI

the previous pentagon coincides with the following pentagon

HHE FINFEB]12:
4:9,0 6,0 8,0 8,3 6,6 0,0 6,0 7,1 8,3 6,6
#HHE PRI

the previous quadrilateral contains the following pentagon

#HHE MINFER13:
4:9,0 5,0 6,0 8,3 6,6 0,0 6,0 7,1 8,3 6,6
#HHE PRI

the previous quadrilateral is inside the following pentagon

#HHE FNFER14
4:0,0 -3,0 -6,0 -8,3 -6,6 0,0 6,0 7,1 8,3 6,6

#HHE PRGBS

the previous quadrilateral is connected to the following pentagon

#HHE NFE15:
4:0,0 6,0 7,1 8,3 6,6 8,0 6,4 15,0 14,0 13,0

s FEB T



the previous pentagon is interlaced with the following triangle

#HHE NG 16:

4:0,0 6,0 8,0 8,3 6,6 1,6 1,-4 -2,-2 -4,0 0,8

#H B

the previous quadrilateral is interlaced with the following pentagon

#HHE FINFEG17
4:0,0 6,0 8,0

i PRI

the previous t

#HE HINFER18:
4:09,0 6,0 8,0

i PRI

the previous t

HHE FINFEB]19:
5:0,0 6,0 8,0

#HHE A
27.0

#HH FIRE20:
5:0,0 6,0 8,0
#H PR
27.0

HHE NFER21:
5:0,0 2,0 6,0

#H PRI
4.0

#H BAFE22:
5:0,0 2,0 6,0
### PR
4.0

7,3 6,6

riangle

7,3 6,6

riangle

8,3 6,6

8,3 6,6

8,0 4,4

8,0 4,4

4,0 6,0 12,0 11,3 10,6

is interlaced with the following triangle

4,0 6,0 8,0 12,0 7,3

is interlaced with the following triangle

9,0 6,0 8,0 8,3 6,6

0,9 6,0 8,0 9,3 6,6

9,-4 4,0 8,4 10,2 12,0

9,-4 2,-2 4,0 6,2 12,0



#HHE BNFE23:
6:8.01,0 0,0 6,0 7,0 8,0 8,6

i PR
outof the triangle

#HHE RG] 24
6:6.01,1 0,0 6,0 7,0 8,3 6,6
#HHE FEGIHTH

in the quadrilateral

#H# HAFEI25:

6:7.1,1 0,0 6,0 7,1 8,3 6,6
i MR

outof the pentagon



